| N of associated (recoToSim) tracks vs normalized x? |

[N of reco track vs normalized x2 ]

track x?

berset

sxoen aredidnp

9 2 4 6 8 10 12 14 16 18 20

syoen areandnp oney

I o
N <
00 X
— O
s
© =
—
<
—
e N
—
.- o
—
[ee]
. © 2
eeds - < R ST
Gt I
1 1 1 =T ~ 1 =k Ty uU Ly r“
=] 3 e S o o
e 3 s S
Soel} e} oney syjoeu) axey oney
I o
N <
oo x B
— O 5
8
Jo & &
—
< 3
ds ¢
o -
—
Je ¢
= H
{0
-{o
i~
={N
= o
S
syoes ang oney syoesy angy
I o
N <
oo x
— O
IS H
Jo = .
i .
< ] i
= E
N L
— 8
o 23
— .
o :
o ” o
s
g i
1 S 5a
8 g
- N = :
I ]
g i
o P 0
@ o o o
s = o
syoen oney syoen




	Contents
	Page 1


